

On L-convergence of the Biggins martingale with complex parameter

Alexander Iksanov, Xingang Liang, Quansheng Liu

▶ To cite this version:

Alexander Iksanov, Xingang Liang, Quansheng Liu. On L-convergence of the Biggins martingale with complex parameter. Australian Journal of Mathematical Analysis and Applications, 2019, 479 (2), pp.1653-1669. 10.1016/j.jmaa.2019.07.017. hal-02487724

HAL Id: hal-02487724

https://hal.science/hal-02487724

Submitted on 21 Feb 2020

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

On L^p -convergence of the Biggins martingale with complex parameter

Alexander Iksanov^{*}, Xingang Liang[†] and Quansheng Liu[‡]

June 19, 2019

Abstract

We prove necessary and sufficient conditions for the L^p -convergence, p > 1, of the Biggins martingale with complex parameter in the supercritical branching random walk. The results and their proofs are much more involved (especially in the case $p \in (1,2)$) than those for the Biggins martingale with real parameter. Our conditions are ultimate in the case $p \ge 2$ only.

Keywords: Biggins martingale with complex parameter; branching random walk; L^p -convergence 2010 Mathematics Subject Classification: Primary 60G42, 60F25; Secondary 60J80

1 Introduction

We start by recalling the definition of the branching random walk. Consider an individual, the ancestor, located at the origin of the real line at time n=0. At time n=1 the ancestor produces a random number J of offspring which are placed at points of the real line according to a random point process $\mathcal{M} = \sum_{i=1}^{J} \delta_{X_i}$ on \mathbb{R} with intensity measure μ (particularly, $J = \mathcal{M}(\mathbb{R})$). The random variable J is allowed to be infinite with positive probability. The first generation formed by the offspring of the ancestor produces the second generation whose displacements with respect to their mothers are distributed according to independent copies of the same point process \mathcal{M} . The second generation produces the third one, and so on. All individuals act independently of each other.

More formally, let $\mathbb{V} = \bigcup_{n \in \mathbb{N}_0} \mathbb{N}^n$ be the set of all possible individuals. The ancestor is identified with the empty word \varnothing and its position is $S(\varnothing) = 0$. On some probability space $(\Omega, \mathcal{F}, \mathbb{P})$ let $(\mathcal{M}(u))_{u \in \mathbb{V}}$ be a family of independent identically distributed (i.i.d.) copies of the point process \mathcal{M} . An individual $u = u_1 \dots u_n$ of the *n*th generation whose position on the real line is denoted by S(u) produces at time n+1 a random number J(u) of offspring which are placed at random locations on \mathbb{R} given by the positions of the point process

$$\sum_{i=1}^{J(u)} \delta_{S(u)+X_i(u)}$$

^{*}Faculty of Computer Science and Cybernetics, Taras Shevchenko National University of Kyiv, 01601 Kyiv, Ukraine; e-mail: iksan@univ.kiev.ua

 $^{^\}dagger S chool of Science, Beijing Technology and Business University, 100048 Beijing, China; e-mail: liangxingang@th.btbu.edu.cn$

[‡]Laboratoire de Mathématiques de Bretagne Atlantique, UMR 6205, Université de Bretagne-Sud, F-56017 Vannes, France; e-mail: quansheng.liu@univ-ubs.fr

where $\mathcal{M}(u) = \sum_{i=1}^{J(u)} \delta_{X_i(u)}$ and J(u) is the number of points in $\mathcal{M}(u)$. The offspring of the individual u are enumerated by $ui = u_1 \dots u_n i$, where $i = 1, \dots, J(u)$ (if $J(u) < \infty$) or $i = 1, 2, \dots$ (if $J(u) = \infty$), and the positions of the offspring are denoted by S(ui). Note that no assumptions are imposed on the dependence structure of the random variables $J(u), X_1(u), X_2(u), \dots$ for fixed $u \in \mathbb{V}$. The point process of the positions of the nth generation individuals will be denoted by \mathcal{M}_n so that $\mathcal{M}_0 = \delta_0$ and

$$\mathcal{M}_{n+1} = \sum_{|u|=n} \sum_{i=1}^{J(u)} \delta_{S(u)+X_i(u)},$$

where, by convention, |u| = n means that the sum is taken over all individuals of the *n*th generation rather than over all $u \in \mathbb{N}^n$. The sequence of point processes $(\mathcal{M}_n)_{n \in \mathbb{N}_0}$ is then called a *branching random walk* (BRW).

Throughout the paper, we assume that the BRW is supercritical, that is $\mathbb{E}J > 1$. In this case, the event \mathcal{S} that the population survives has positive probability. Note that, provided that $J < \infty$ almost surely (a.s.), the sequence $(\mathcal{M}_n(\mathbb{R}))_{n \in \mathbb{N}_0}$ of generation sizes in the BRW forms a Galton–Watson process.

The Laplace transform of the intensity measure μ

$$m(\lambda) := \int_{\mathbb{R}} e^{-\lambda x} \mu(\mathrm{d}x) = \mathbb{E} \sum_{|u|=1} e^{-\lambda S(u)}, \quad \lambda = \theta + \mathrm{i}\gamma \in \mathbb{C}$$

plays an important role in what follows. Throughout the paper we reserve the notation θ for the real part of λ and γ for the imaginary part of λ , and assume that

$$\mathcal{D}:=\{\lambda\in\mathbb{C}:m(\lambda)\text{ converges absolutely}\}=\{\theta\in\mathbb{R}:m(\theta)<\infty\}+\mathrm{i}\mathbb{R}\neq\varnothing.$$

Further, we define the sets

$$\mathcal{D}_0 := \mathcal{D} \cap \{\lambda \in \mathbb{C} : |m(\lambda)| = 0\}, \quad \mathcal{D}_{\neq 0} = \mathcal{D} \setminus \mathcal{D}_0.$$

For $\lambda \in \mathcal{D}_{\neq 0}$ and $n \in \mathbb{N}_0$ set

$$Z_n(\lambda) := \frac{1}{m(\lambda)^n} \int_{\mathbb{R}} e^{-\lambda x} \mathcal{M}_n(\mathrm{d}x) = \frac{1}{m(\lambda)^n} \sum_{|u|=n} e^{-\lambda S(u)}.$$

Let \mathcal{F}_0 be the trivial σ -field and \mathcal{F}_n the σ -field generated by the first n generations, that is, $\mathcal{F}_n := \sigma(\mathcal{M}(u) : u \in \cup_{k=0}^{n-1} \mathbb{N}^k)$. The sequence $(Z_n(\lambda), \mathcal{F}_n)_{n \in \mathbb{N}_0}$ forms a complex-valued martingale of mean one that we call the Biggins martingale with complex parameter. A non-exhaustive list of very recent articles investigating these objects includes [12, 13, 17, 18]. We would like to stress that the Biggins martingale with complex parameter has received much less attention than its counterpart with real parameter and similar martingale related to a branching Brownian motion. See [14, 22] for recent contributions in the latter case.

The purpose of this article is to provide necessary and sufficient conditions for the L^p -convergence of the martingale $(Z_n(\lambda))_{n\in\mathbb{N}_0}$ for p>1. Our main results, Theorems 3.1, 3.4 and 3.9, improve upon Theorem 1 in [7] and Theorem 5.1.1 in the unpublished thesis [19] which give sufficient conditions for the aforementioned convergence in the cases $p\in(1,2]$ and p>2, respectively. Necessary and sufficient conditions for the L^1 -convergence of $(Z_n(\lambda))_{n\in\mathbb{N}_0}$ are beyond our reach. Finding them seems to be a major open problem for the Biggins martingales

with complex parameter. For the time being, our necessary and sufficient conditions for the L^p -convergence for p close to 1 can be used as (non-optimal) sufficient conditions for the L^1 -convergence. By the martingale convergence theorem, the L^p convergence (with $p \ge 1$) implies the almost sure convergence; so the conditions given in this paper are also sufficient for the almost most convergence.

The rest of the paper is organized as follows. We give some preliminaries in Section 2. Our results are formulated in Section 3 and then proved in Section 4.

2 Preliminaries

Let $\lambda = \theta + i\gamma \in \mathcal{D}$ be fixed. Keeping in mind the inequality $|m(\lambda)| \leq m(\theta)$ we distinguish three cases:

$$(\mathrm{I}) \ |m(\lambda)| = m(\theta); \quad (\mathrm{II}) \ 0 < |m(\lambda)| < m(\theta); \quad (\mathrm{III}) \ |m(\lambda)| = 0.$$

Perhaps, it is not obvious that Case III can occur. To convince the reader we give an example of the BRW satisfying $m(\theta) < \infty$ and $m(\lambda) = 0$ for some $\lambda \in \mathbb{C}$. Let

$$\mu(\mathrm{d}x) = \frac{2}{\pi} \frac{e^{\theta x} (1 - \cos x)}{x^2} \, \mathbb{1}_{\mathbb{R}}(x) \mathrm{d}x.$$

Then $m(\theta) = 2$ and

$$m(\lambda) = \frac{4}{\pi} \int_{\mathbb{R}} e^{-i\gamma x} x^{-2} (1 - \cos x) dx = 2(1 - |\gamma|) \mathbb{1}_{(-1,1)}(\gamma).$$

In particular, $m(\lambda) = 0$ whenever $|\gamma| > 1$.

We do not touch Case III in this paper, just because the sequence $(Z_n^{(0)}(\lambda), \mathcal{F}_n)_{n \in \mathbb{N}_0}$ defined for $\lambda \in \mathcal{D}_0$ by

$$Z_n^{(0)}(\lambda) := \int_{\mathbb{R}} e^{-\lambda x} \mathcal{M}_n(\mathrm{d}x) = \sum_{|u|=n} e^{-\lambda S(u)}$$

does not form a martingale, for it is comprised of complex-valued martingale differences.

CASE I: $|m(\lambda)| = m(\theta)$. Since $m(\lambda) = e^{i\varphi}m(\theta)$ for some $\varphi \in [0, 2\pi)$ we infer

$$\mathbb{E}\sum_{|u|=1} e^{-\theta S(u)} \left(e^{-\mathrm{i}(\varphi + \gamma S(u))} - 1 \right) = 0$$

and thereupon $e^{-i\gamma S(u)} = e^{i(\varphi + 2\pi k)} = e^{i\varphi}$ for integer k whenever |u| = 1. This gives $Z_n(\lambda) = Z_n(\theta)$ for $n \in \mathbb{N}$ a.s. Therefore, $(Z_n(\lambda), \mathcal{F}_n)_{n \in \mathbb{N}_0}$ is a nonnegative unit mean martingale.

Proposition 2.1 reminds a criterion for the L^p -convergence (p > 1) of the Biggins martingale with real parameter. The result is well-known and can be found in Theorem 2.1 of [20], Corollary 5 of [16], Theorem 3.1 of [4], and perhaps some other articles.

Proposition 2.1. Let p > 1 and $m(\theta) < \infty$ for some $\theta \in \mathbb{R}$. Then the martingale $(Z_n(\theta))_{n \in \mathbb{N}_0}$ converges in L^p if, and only if,

$$\mathbb{E}[Z_1(\theta)]^p < \infty \quad and \quad \frac{m(p\theta)}{m(\theta)^p} < 1.$$

Remark 2.2. When $\theta = 0$ and $m(0) < \infty$, the condition $m(0) < m(0)^p$ holds automatically because m(0) > 1 by supercriticality. Hence, the martingale $(Z_n(0))_{n \in \mathbb{N}_0}$ converges in L^p if, and only if, $\mathbb{E}[Z_1(0)]^p < \infty$. This result goes back to Corollary on p. 714 in [10].

Therefore, in Case I we conclude that the martingale $(Z_n(\lambda))_{n\in\mathbb{N}_0}$ converges in L^p if, and only if, the conditions of Proposition 2.1 hold true.

Case II: $0 < |m(\lambda)| < m(\theta)$. From the preceding discussion it is clear that only this case gives us a truly complex-valued martingale $(Z_n(\lambda))_{n \in \mathbb{N}_0}$, the object we shall concentrate on in what follows. In our analysis distinguishing the cases p < 2 and $p \ge 2$ seems inevitable. To explain this point somewhat informally we restrict our attention to the case $\theta = 0$ and note that the L^p -convergence of the martingale $(Z_n(\lambda))_{n \in \mathbb{N}_0}$ is regulated, among others, by the asymptotic behavior of $\mathbb{E}(\sum_{j=1}^n \xi_j^2)^{p/2}$ as $n \to \infty$ for ξ_1, ξ_2, \ldots independent copies of the random variable $|Z_1(\lambda) - 1|$ with finite pth moment. If $p \ge 2$, then $\mathbb{E}\xi_1^2 < \infty$ and one expects that

$$\mathbb{E}\left(\sum_{j=1}^n \xi_j^2\right)^{p/2} \sim (\mathbb{E}\xi_1^2)^{p/2} n^{p/2}, \quad n \to \infty.$$

If $p \in (1,2)$ and $\mathbb{E}\xi_1^2 = \infty$ the last asymptotic relation is no longer true, and one expects that in typical situations

$$0 < \liminf_{n \to \infty} n^{-p/\alpha} \mathbb{E} \left(\sum_{j=1}^{n} \xi_j^2 \right)^{p/2} \le \limsup_{n \to \infty} n^{-p/\alpha} \mathbb{E} \left(\sum_{j=1}^{n} \xi_j^2 \right)^{p/2} < \infty$$
 (1)

for some $\alpha \in (p, 2)$. It seems that the α cannot be expressed in terms of moments.

Before closing the section we recall that according to the Kesten-Stigum theorem (see, for instance, Theorem 2.1 on p. 23 in [5]) we have $\lim_{n\to\infty} Z_n(0) = 0$ a.s. whenever $m(0) < \infty$ and $\mathbb{E}Z_1(0)\log^+ Z_1(0) = \infty$. However, by the Seneta-Heyde theorem (see, for instance, Theorem 5.1 on p. 83 and Corollary 5.3 on p. 85 in [5]) there exists a positive slowly varying function ℓ with $\lim_{t\to\infty} \ell(t) = \infty$ such that

$$\lim_{n \to \infty} Z_n(0)\ell(m(0)^n) = \tilde{Z}_{\infty}(0)$$

for a random variable $\tilde{Z}_{\infty}(0)$ which is positive with positive probability.

3 Main results

We are ready to state a criterion for the L^p -convergence, $p \in (1, 2)$. The cases $\theta = 0$ and $\theta \neq 0$ are treated separately in Theorems 3.1 and 3.4, respectively.

Theorem 3.1. Let $p \in (1,2)$, $\gamma \in \mathbb{R} \setminus \{0\}$, $\lambda = i\gamma$ and $0 < |m(\lambda)| < m(0) < \infty$. Assume that

$$\mathbb{E}|Z_1(\lambda)|^2 < \infty \tag{2}$$

or

$$0 < \liminf_{x \to \infty} x^{\alpha} \mathbb{P}\{|Z_1(\lambda)| > x\} \le \limsup_{x \to \infty} x^{\alpha} \mathbb{P}\{|Z_1(\lambda)| > x\} < \infty$$
 (3)

for some $\alpha \in (1,2)$. If either $\mathbb{E}Z_1(0)\log^+ Z_1(0) = \infty$ and

$$A := \sum_{n \ge 0} \frac{1}{\ell(m(0)^n)^{p/\alpha}} = \infty,$$

where ℓ is a slowly varying function appearing in the Seneta-Heyde theorem, and we take $\alpha = 2$ when condition (2) holds, or $\mathbb{E}Z_1(0)\log^+ Z_1(0) < \infty$, then the martingale $(Z_n(\lambda))_{n\in\mathbb{N}_0}$ converges in L^p if, and only if,

$$p < \alpha$$
 (4)

and

$$\frac{m(0)}{|m(\lambda)|^{\alpha}} < 1. \tag{5}$$

If $\mathbb{E}Z_1(0)\log^+ Z_1(0) = \infty$ and $A < \infty$, then the martingale $(Z_n(\lambda))_{n \in \mathbb{N}_0}$ converges in L^p if, and only if, condition (4) holds and

$$\frac{m(0)}{|m(\lambda)|^{\alpha}} \le 1. \tag{6}$$

Remark 3.2. A perusal of the proof of Theorem 3.1 reveals that conditions (3) and (4) can be safely replaced by the (seemingly) less restrictive condition (1), thereby extending the range of applicability of the result.

Remark 3.3. Let us note that irrespective of the $x \log x$ condition $Z_n(0)\ell(m(0)^n)$ converges a.s. to a random variable which is positive with positive probability. Here, the slowly varying function ℓ is identically one when $\mathbb{E}Z_1(0)\log^+ Z_1(0) < \infty$. In view of this we can reformulate Theorem 3.1 in a more succinct form: under assumptions (2) and (3) the martingale $(Z_n(i\gamma))_{n\in\mathbb{N}_0}$ converges in L^p , $p \in (1,2)$ if, and only if, condition (4) holds and

$$\sum_{n>0} \left(\frac{m(0)}{|m(i\gamma)|^{\alpha}} \right)^n \frac{1}{\ell(m(0)^n)^{p/\alpha}} < \infty.$$

Theorem 3.4. Let $p \in (1,2)$, $\theta, \gamma \in \mathbb{R}\setminus\{0\}$, $\lambda = \theta + i\gamma$ and $0 < |m(\lambda)| < m(\theta) < \infty$. Assume that conditions (2) and (3) hold with the present λ , and that the martingale $(Z_n(\alpha\theta))_{n\in\mathbb{N}_0}$ is uniformly integrable (we take $\alpha = 2$ when condition (2) holds). Then the martingale $(Z_n(\lambda))_{n\in\mathbb{N}_0}$ converges in L^p if, and only if, condition (4) holds and

$$\frac{m(\alpha\theta)}{|m(\lambda)|^{\alpha}} < 1. \tag{7}$$

Remark 3.5. In answer to a question put to us by the referee, we now give an example in which conditions (3) and (7) (or (5)) hold true.

Assume that $\theta \geq 0$, $\gamma = 1$ and that $\mathbb{P}\{J > x\} \sim cx^{-\alpha}$ as $x \to \infty$ for some $\alpha \in (1,2)$ and c > 0. Let X_1, X_2, \ldots be independent copies of a random variable X taking values in $(0, \pi/3)$ which are independent of J. Replacing if needed J with mJ for some large $m \in \mathbb{N}$ we can assume that

$$\left| \mathbb{E}e^{-iX} \right|^{\alpha} (\mathbb{E}J)^{\alpha-1} > 1. \tag{8}$$

If $\theta = 0$, then $m(0) = \mathbb{E}J < |m(\lambda)|^{\alpha} = |\mathbb{E}e^{-iX}|^{\alpha}(\mathbb{E}J)^{\alpha}$ in view of (8), so that (5) holds. If $\theta > 0$, then choosing θ sufficiently close to 0 we conclude that (7) holds by another appeal to (8). Finally, the inequalities

$$\mathbb{P}\{|Z_1(\lambda)| > x\} \le \mathbb{P}\{J > |m(\lambda)|x\}$$

and

$$\mathbb{P}\{|Z_1(\lambda)| > x\} \ge \mathbb{P}\{\sum_{k=1}^{J} e^{-\theta X_k} \cos X_k > |m(\lambda)|x\} \ge \mathbb{P}\{J > 2e^{\theta \pi/3} |m(\lambda)|x\}$$

show that condition (3) also holds.

Remark 3.6. Necessary and sufficient conditions for the uniform integrability of the Biggins martingale with real parameter were obtained in increasing generality in [6], [21] and [2]. Simple sufficient conditions for the uniform integrability of the martingale $(Z_n(\alpha\theta))_{n\in\mathbb{N}_0}$ are $\mathbb{E}Z_1(\alpha\theta)\log^+ Z_1(\alpha\theta) < \infty$ and $-\alpha\theta\mathbb{E}\sum_{|u|=1}e^{-\alpha\theta S(u)}S(u) \in [-\infty, m(\alpha\theta)\log m(\alpha\theta))$.

Theorem 3.4 requires that the martingale $(Z_n(\alpha\theta))_{n\in\mathbb{N}_0}$ be uniformly integrable which is an unpleasant feature. The problem is that it seems that the other assumptions of Theorem 3.4 do not lead to any conclusions concerning the asymptotics of $\mathbb{E}[Z_n(\alpha\theta)]^{p/\alpha}$ as $n\to\infty$, when $(Z_n(\alpha\theta))_{n\in\mathbb{N}_0}$ is not uniformly integrable martingale. Although in the latter case there are several results (see [1, 9, 15]) concerning distributional convergence of $Z_n(\alpha\theta)a_n$ as $n\to\infty$ for appropriate constants (a_n) , the assumptions imposed in the cited works are too restrictive for our purposes. Fortunately, there is (at least) one exception arising in the case $\theta=0$ which allowed us to provide a more complete result in Theorem 3.1.

Necessary and sufficient conditions given in Theorems 3.1 and 3.4 like any other necessary and sufficient conditions are of mainly theoretical interest. For applications easily verifiable sufficient conditions are of greater use. Biggins in Theorem 1 of [7] shows that the conditions $\mathbb{E}[Z_1(\theta)]^{\gamma} < \infty$ for some $\gamma \in (1,2)$ and $m(p\theta)/|m(\lambda)|^p < 1$ for some $p \in (1,\gamma]$ are sufficient for the L^p -convergence of $(Z_n(\lambda)_{n\in\mathbb{N}_0})$. Albeit looking differently Proposition 3.7 given next is essentially equivalent to the Biggins conditions, the improvement being that we use a moment condition for $Z_1(\lambda)$ rather than for $Z_1(\theta)$.

Proposition 3.7. Let $p \in (1,2)$, $\gamma \in \mathbb{R} \setminus \{0\}$, $\lambda = \theta + i\gamma$ and $0 < |m(\lambda)| < m(\theta) < \infty$. The conditions

$$\mathbb{E}|Z_1(\lambda)|^r < \infty \quad and \quad \frac{m(r\theta)}{|m(\lambda)|^r} < 1 \tag{9}$$

for some $r \in [p,2]$ are sufficient for the L^p -convergence of the martingale $(Z_n(\lambda))_{n \in \mathbb{N}_0}$.

Remark 3.8. Other sufficient conditions for the L^p -convergence of $(Z_n(\lambda))_{n\in\mathbb{N}_0}$ for $p\in(1,2)$ are given in Theorem 2.1 of [18]. Assuming that

$$\frac{m(r\theta)}{|m(\lambda)|^r} = 1$$
 and $\mathbb{E} \sum_{|u|=1} \theta S(u) \frac{e^{-r\theta S(u)}}{|m(\lambda)|^r} \ge -\log|m(\lambda)|$

for some $r \in (1,2)$ and that

$$\mathbb{E}|Z_1(\lambda)|^r \log_+^{2+\varepsilon} |Z_1(\lambda)| < \infty$$

for some $\varepsilon > 0$ it is proved in the cited paper that the martingale converges a.s. and in L^p for every $p \in (0, r)$.

Now we formulate a criterion for the L^p -convergence, $p \geq 2$. In the sequel we use the standard notation

$$x \lor y = \max(x, y)$$
 and $x \land y = \min(x, y)$.

Theorem 3.9. Let $p \geq 2$, $\theta, \gamma \in \mathbb{R}$, $\gamma \neq 0$, $\lambda = \theta + i\gamma$ and $0 < |m(\lambda)| < m(\theta) < \infty$. If $\theta \neq 0$, the martingale $(Z_n(\lambda))_{n \in \mathbb{N}_0}$ converges in L^p if, and only if,

$$\mathbb{E}|Z_1(\lambda)|^p < \infty, \tag{10}$$

$$\frac{m(2\theta)}{|m(\lambda)|^2} \vee \frac{m(p\theta)}{|m(\lambda)|^p} < 1 \tag{11}$$

and, when p > 2,

$$\mathbb{E}[Z_1(2\theta)]^{p/2} < \infty. \tag{12}$$

If $\theta = 0$, the martingale $(Z_n(\lambda))_{n \in \mathbb{N}_0}$ converges in L^p if, and only if, conditions (10) and (12) hold, and

$$\frac{m(0)}{|m(\lambda)|^2} < 1.$$

4 Proofs

We first formulate a version of the Burkholder inequality for complex-valued martingales. Although we think the result is known, we have not been able to locate it in the literature.

Lemma 4.1. Let p > 1 and $(X_n)_{n \in \mathbb{N}_0}$ be a complex-valued martingale with $X_0 = 0$. Then the martingale $(X_n)_{n \in \mathbb{N}_0}$ converges in L^p if, and only if, $\mathbb{E}(\sum_{n \geq 0} |X_{n+1} - X_n|^2)^{p/2} < \infty$. If one of these holds, then

$$c_p \mathbb{E}\left(\sum_{n>0} |X_{n+1} - X_n|^2\right)^{p/2} \le \mathbb{E}|X|^p \le C_p \mathbb{E}\left(\sum_{n>0} |X_{n+1} - X_n|^2\right)^{p/2}$$
 (13)

for appropriate positive and finite constants c_p and C_p , where X is the L^p - limit of $(X_n)_{n\in\mathbb{N}_0}$.

Proof. We only need to prove (13). According to Theorem 1 on p. 414 in [11] inequality (13) holds for real-valued martingales with constants c_p^* and C_p^* in place of c_p and C_p . We shall deduce (13) for complex-valued martingales from the cited theorem and the fact that $(\operatorname{Re} X_n)_{n \in \mathbb{N}_0}$ and $(\operatorname{Im} X_n)_{n \in \mathbb{N}_0}$ are real-valued martingales. From the elementary inequalities

$$(2^{r-1} \wedge 1)(a^r + b^r) \le (a+b)^r \le (2^{r-1} \vee 1)(a^r + b^r), \quad a, b \ge 0, r > 0$$

we obtain

$$(2^{p/2-1} \wedge 1)(|\operatorname{Re} X|^p + |\operatorname{Im} X|^p) \le |X|^p \le (2^{p/2-1} \vee 1)(|\operatorname{Re} X|^p + |\operatorname{Im} X|^p).$$

Therefore,

$$\mathbb{E}|X|^{p} \le (2^{p/2-1} \vee 1)(\mathbb{E}|\operatorname{Re} X|^{p} + \mathbb{E}|\operatorname{Im} X|^{p}) \\
\le (2^{p/2-1} \vee 1)C_{p}^{*} \left(\mathbb{E}\left[\left(\sum_{n\geq 0}\left(\operatorname{Re}\left(X_{n+1} - X_{n}\right)\right)^{2}\right)^{p/2}\right] + \mathbb{E}\left[\left(\sum_{n\geq 0}\left(\operatorname{Im}\left(X_{n+1} - X_{n}\right)\right)^{2}\right)^{p/2}\right]\right) \\
\le \frac{2^{p/2-1} \vee 1}{2^{p/2-1} \wedge 1} C_{p}^{*} \mathbb{E}\left(\sum_{n\geq 0}\left|X_{n+1} - X_{n}\right|^{2}\right)^{p/2}$$

and

$$\mathbb{E}|X|^{p} \\
\geq (2^{p/2-1} \wedge 1)(\mathbb{E}|\operatorname{Re} X|^{p} + \mathbb{E}|\operatorname{Im} X|^{p}) \\
\geq (2^{p/2-1} \wedge 1)c_{p}^{*} \left(\mathbb{E}\left[\left(\sum_{n\geq 0} \left(\operatorname{Re} (X_{n+1} - X_{n}) \right)^{2} \right)^{p/2} \right] + \mathbb{E}\left[\left(\sum_{n\geq 0} \left(\operatorname{Im} (X_{n+1} - X_{n}) \right)^{2} \right)^{p/2} \right] \right) \\
\geq \frac{2^{p/2-1} \wedge 1}{2^{p/2-1} \vee 1} c_{p}^{*} \mathbb{E}\left(\sum_{n\geq 0} \left| X_{n+1} - X_{n} \right|^{2} \right)^{p/2}.$$

In Lemma 4.2 given next which is needed for the proof of Theorem 3.1 we use the notation introduced in the paragraph preceding Theorem 3.1.

Lemma 4.2. Let $r \in (0,1)$, $m(0) \in (1,\infty)$ and $\mathbb{E}Z_1(0) \log^+ Z_1(0) = \infty$. Then $\mathbb{E}[\tilde{Z}_{\infty}(0)]^r < \infty$ and

$$\mathbb{E}[Z_n(0)]^r \sim \frac{\mathbb{E}[\tilde{Z}_{\infty}(0)]^r}{\ell(m(0)^n)^r}, \quad n \to \infty.$$

Proof. By Corollary 5.5 on p. 86 in [5], the function $x \mapsto \int_0^x \mathbb{P}\{\tilde{Z}_{\infty}(0) > y\} dy$ slowly varies at ∞ . This entails $\mathbb{E}[\tilde{Z}_{\infty}(0)]^r < \infty$.

From Theorem 5.1 on p. 83 in [5] (and its proof) and Corollary 5.3 on p. 85 in [5] we know that $m(0)^{-n}\ell(m(0)^n) \sim h_n(s_0)$ as $n \to \infty$, where $h_n(s)$ is the inverse function of $x \mapsto -\log \mathbb{E}e^{-x\mathcal{M}_n(\mathbb{R})}$ for $n \in \mathbb{N}$ and s_0 is a small enough positive number, and that $(\exp(-h_n(s_0)\mathcal{M}_n(\mathbb{R})))_{n\in\mathbb{N}}$ is a martingale with respect to the natural filtration which converges a.s. and in mean as $n \to \infty$ to $\exp(-\tilde{Z}_{\infty}(0))$. The first of these facts tells us that it suffices to prove that

$$\lim_{n \to \infty} \mathbb{E}[h_n(s_0)\mathcal{M}_n(\mathbb{R})]^r = \mathbb{E}[\tilde{Z}_{\infty}(0)]^r.$$
(14)

As a consequence of the second we infer that, for each $s \in (0,1)$, $(\exp(-sh_n(s_0)\mathcal{M}_n(\mathbb{R})))_{n \in \mathbb{N}}$ is a submartingale. In particular,

$$1 - \mathbb{E}e^{-sh_n(s_0)\mathcal{M}_n(\mathbb{R})} \le 1 - \mathbb{E}e^{-s\tilde{Z}_{\infty}(0)}, \quad s \in (0, 1).$$
 (15)

To prove (14) we shall use the following formula which holds for any nonnegative random variable X and $a \in (0,1)$:

$$\mathbb{E}X^a = \frac{a}{\Gamma(1-a)} \int_0^\infty s^{-a-1} (1 - \mathbb{E}e^{-sX}) \mathrm{d}s,\tag{16}$$

where $\Gamma(\cdot)$ is the gamma function. This equality follows from $\mathbb{E}e^{-sX} = \mathbb{P}\{R > sX\}$ for $s \ge 0$, where R is an exponentially distributed random variable of unit mean which is independent of X.

With the help of $\lim_{n\to\infty} \mathbb{E}e^{-sh_n(s_0)\mathcal{M}_n(\mathbb{R})} = \mathbb{E}e^{-s\tilde{Z}_{\infty}(0)}$ for all $s\geq 0$, inequality (15) and the fact that $1-\mathbb{E}e^{-sh_n(s_0)\mathcal{M}_n(\mathbb{R})}\leq 1$ for $s\geq 1$, we obtain

$$\mathbb{E}[h_n(s_0)\mathcal{M}_n(\mathbb{R})]^r = \frac{r}{\Gamma(1-r)} \int_0^\infty s^{-r-1} (1 - \mathbb{E}e^{-sh_n(s_0)\mathcal{M}_n(\mathbb{R})}) ds$$

$$\to \frac{r}{\Gamma(1-r)} \int_0^\infty s^{-r-1} (1 - \mathbb{E}e^{-s\tilde{Z}_\infty(0)}) ds = \mathbb{E}[\tilde{Z}_\infty(0)]^r$$

as $n \to \infty$ by Lebesgue's dominated convergence theorem.

For any $u \in \mathbb{V}$ and $\lambda \in \mathcal{D}_{\neq 0}$, set

$$Z_1^{(u)}(\lambda) := \frac{1}{m(\lambda)} \sum_{|v|=1} e^{-\lambda(S(uv)-S(u))} \quad \text{and} \quad Y_u(\lambda) := \frac{e^{-\lambda S(u)}}{m(\lambda)^{|u|}}.$$

Thus, $Z_1^{(u)}(\lambda)$ is the analogue of $Z_1(\lambda)$, but based on the progeny of individual u rather than the progeny of the initial ancestor \varnothing . Observe that, for the individuals u with |u| = n for some $n \in \mathbb{N}$, the Y_u are \mathcal{F}_n -measurable, whereas the $Z_1^{(u)}(\lambda)$ are independent of \mathcal{F}_n .

Lemma 4.3. Let $p \in (1,2)$, $\gamma \in \mathbb{R} \setminus \{0\}$, $\lambda = \theta + i\gamma$ and $0 < |m(\lambda)| < m(\theta) < \infty$. Assume that (3) holds for $\alpha \in (p,2)$ and, when $\theta \neq 0$, that $m(\alpha\theta) < \infty$ and the martingale $(Z_n(\alpha\theta))_{n \in \mathbb{N}_0}$ is uniformly integrable. Then there exist positive constants c and C such that for each $n \in \mathbb{N}$,

$$c\left(\frac{m(0)}{|m(\lambda)|^{\alpha}}\right)^{np/\alpha} \mathbb{E}[Z_n(0)]^{p/\alpha} \le \mathbb{E}\left(\sum_{|u|=n} |Y_u(\lambda)|^2 |Z_1^{(u)}(\lambda) - 1|^2\right)^{p/2} \le C\left(\frac{m(0)}{|m(\lambda)|^{\alpha}}\right)^{np/\alpha} \mathbb{E}[Z_n(0)]^{p/\alpha}$$
(17)

when $\theta = 0$, and

$$c\left(\frac{m(\alpha\theta)}{|m(\lambda)|^{\alpha}}\right)^{np/\alpha} \le \mathbb{E}\left(\sum_{|u|=n} |Y_u(\lambda)|^2 |Z_1^{(u)}(\lambda) - 1|^2\right)^{p/2} \le C\left(\frac{m(\alpha\theta)}{|m(\lambda)|^{\alpha}}\right)^{np/\alpha} \tag{18}$$

when $\theta \neq 0$.

Proof. Denote by ξ_1, ξ_2, \ldots independent random variables which are distributed as $|Z_1(\lambda) - 1|$ and independent of \mathcal{F}_n . Further, let η_1, η_2, \ldots be i.i.d. positive random variables with

$$\mathbb{P}\{\eta_1 > x\} \sim bx^{-\alpha}, \quad x \to \infty$$

for some b>0 and the same α as in (3). It is clear that $\varphi(s):=\mathbb{E}e^{-s\eta_1^2}$ satisfies

$$-\log \varphi(s) \sim b\Gamma(1 - \alpha/2)s^{\alpha/2}, \quad s \to 0 + . \tag{19}$$

Let $\eta_{\alpha/2}$ be a positive $(\alpha/2)$ -stable random variable with the Laplace transform

$$\Psi(s) := \mathbb{E} \exp(-s\eta_{\alpha/2}) = \exp(-b\Gamma(1-\alpha/2)s^{\alpha/2}), \quad s \ge 0.$$

Case $\theta = 0$. Set

$$\Psi_k(s) := \mathbb{E} \exp\left(\frac{\eta_1^2 + \ldots + \eta_k^2}{k^{2/\alpha}}\right) = [\varphi(sk^{-2/\alpha})]^k, \quad s \ge 0, \ k \in \mathbb{N}.$$

It is easily seen that

$$\lim_{k \to \infty} \Psi_k(s) = \Psi(s), \quad s \ge 0. \tag{20}$$

We intend to show that

$$\lim_{k \to \infty} \mathbb{E}\left(\frac{\eta_1^2 + \ldots + \eta_k^2}{k^{2/\alpha}}\right)^{p/2} = \mathbb{E}[\eta_{\alpha/2}]^{p/2} < \infty.$$
 (21)

According to formula (16) relation (21) is equivalent to

$$\lim_{k \to \infty} \int_0^\infty s^{-p/2 - 1} (1 - \Psi_k(s)) ds = \int_0^\infty s^{-p/2 - 1} (1 - \Psi(s)) ds.$$
 (22)

With (20) at hand we shall prove (22) with the help of Lebesgue's dominated convergence theorem. In view of (19), for $s_0 > 0$ small enough there exists r > 0 such that $-\log \varphi(s) \le rs^{\alpha/2}$ whenever $s \in [0, s_0]$. Hence, for such s

$$1 - \Psi_k(s) \le -\log \Psi_k(s) \le r s^{\alpha/2},$$

and $\int_0^{s_0} s^{-p/2-1+\alpha/2} ds = \frac{2}{\alpha-p} s_0^{(\alpha-p)/2} < \infty$ because $p < \alpha$. For $s \ge s_0$ we use the crude estimate $1 - \Psi_n(s) \le 1$ which suffices in view of $\int_{s_0}^{\infty} s^{-p/2-1} ds = (2/p) s_0^{-p/2} < \infty$. The proof of (22) is complete.

As a consequence of (22) and (3) we obtain

$$c \le \mathbb{E}\left(\frac{\xi_1^2 + \ldots + \xi_k^2}{k^{2/\alpha}}\right)^{p/2} \le C$$

for all $k \in \mathbb{N}$ and appropriate c, C > 0, whence

$$\mathbb{E}\left(\sum_{j=1}^{\mathcal{M}_n(\mathbb{R})} \xi_j^2\right)^{p/2} = \mathbb{E}[\mathcal{M}_n(\mathbb{R})]^{p/\alpha} \mathbb{E}\left(\left(\frac{\sum_{j=1}^{\mathcal{M}_n(\mathbb{R})} \xi_j^2}{\mathcal{M}_n(\mathbb{R})^{2/\alpha}} \mathbb{1}_{\{\mathcal{M}_n(\mathbb{R}) \geq 1\}}\right)^{p/2} \middle| \mathcal{F}_n\right) \geq c \mathbb{E}[\mathcal{M}_n(\mathbb{R})]^{p/\alpha}.$$

Arguing similarly for the the upper bound we arrive at

$$c\mathbb{E}[\mathcal{M}_n(\mathbb{R})]^{p/\alpha} \le \mathbb{E}\left(\sum_{j=1}^{\mathcal{M}_n(\mathbb{R})} \xi_j^2\right)^{p/2} \le C\mathbb{E}[\mathcal{M}_n(\mathbb{R})]^{p/\alpha}$$
(23)

which is equivalent to (17).

Case $\theta \neq 0$. Like in the previous part of the proof, inequality (18) follows if we can show that

$$\lim_{n \to \infty} \mathbb{E}\left(\frac{\sum_{|u|=n} e^{-2\theta S(u)} |Z_1^{(u)}(\lambda) - 1|^2}{m(\alpha\theta)^{2n/\alpha}}\right)^{p/2} = \mathbb{E}[\eta_{\alpha/2} Z_{\infty}(\alpha\theta)^{2/\alpha}]^{p/2} < \infty \tag{24}$$

assuming that $|Z_1(\lambda) - 1|$ has the same distribution as η_1 . Here, $Z_{\infty}(\alpha\theta)$ is the a.s. and L_1 limit of the uniformly integrable martingale $(Z_n(\alpha\theta))_{n\in\mathbb{N}_0}$. Furthermore, $Z_{\infty}(\alpha\theta)$ is assumed independent of $\eta_{\alpha/2}$. By (16), relation (24) is equivalent to

$$\lim_{n \to \infty} \int_0^\infty s^{-p/2 - 1} (1 - \Phi_n(s)) ds = \int_0^\infty s^{-p/2 - 1} (1 - \Phi(s)) ds, \tag{25}$$

where

$$\Phi_n(s) := \mathbb{E} \exp\left(-s \frac{\sum_{|u|=n} e^{-2\theta S(u)} |Z_1^{(u)}(\lambda) - 1|^2}{m(\alpha \theta)^{2n/\alpha}}\right), \quad s \ge 0, \ n \in \mathbb{N}$$

and

$$\Phi(s) := \mathbb{E} \exp(-s\eta_{\alpha/2} Z_{\infty}(\alpha\theta)^{2/\alpha}) = \mathbb{E} \exp(-b\Gamma(1-\alpha/2)s^{\alpha/2} Z_{\infty}(\alpha\theta)).$$

By Theorem 3 in [8],

$$\frac{\sup_{|u|=n} e^{-2\theta S(u)}}{m(\alpha \theta)^{2n/\alpha}} = \left(\frac{\sup_{|u|=n} e^{-\alpha \theta S(u)}}{m(\alpha \theta)^n}\right)^{2/\alpha} \to 0 \quad \text{a.s.}$$

as $n \to \infty$. This in combination with (19) yields, for $s \ge 0$,

$$-\log \mathbb{E} \left(\exp \left(-s \frac{\sum_{|u|=n} e^{-2\theta S(u)} |Z_1^{(u)}(\lambda) - 1|^2}{m(\alpha \theta)^{2n/\alpha}} \right) \middle| \mathcal{F}_n \right)$$

$$= \sum_{|u|=n} -\log \varphi \left(s \frac{e^{-2\theta S(u)}}{m(\alpha \theta)^{2n/\alpha}} \right)$$

$$\sim b\Gamma(1 - \alpha/2) s^{\alpha/2} Z_n(\alpha \theta) \rightarrow b\Gamma(1 - \alpha/2) s^{\alpha/2} Z_{\infty}(\alpha \theta) \text{ a.s.}$$

as $n \to \infty$, thereby proving that

$$\lim_{n \to \infty} \Phi_n(s) = \Phi(s), \quad s \ge 0.$$

To justify (25) we shall use Lebesgue's dominated convergence theorem. As a consequence of (19), given $s_0 > 0$ small enough there exist positive constants B_1 and B_2 such that

$$\frac{s^{\alpha/2}}{1 - \varphi(s)} \le B_1$$
 and $\frac{1 - \varphi(sx)}{1 - \varphi(s)} \le B_2 x^{\alpha/2}$

whenever $s \in (0, s_0]$ and $sx \in (0, s_0]$. Therefore, for $s \in (0, s_0]$ and S(u) with |u| = n,

$$\frac{1 - \varphi\left(s\frac{e^{-2\theta S(u)}}{m(\alpha\theta)^{2n/\alpha}}\right)}{1 - \varphi(s)} = \frac{1 - \varphi\left(s\frac{e^{-2\theta S(u)}}{m(\alpha\theta)^{2n/\alpha}}\right)}{1 - \varphi(s)} \mathbb{1}_{\left\{\frac{e^{-2\theta S(u)}}{m(\alpha\theta)^{2n/\alpha}} \le \frac{s_0}{s}\right\}} + \frac{1 - \varphi\left(s\frac{e^{-2\theta S(u)}}{m(\alpha\theta)^{2n/\alpha}}\right)}{1 - \varphi(s)} \mathbb{1}_{\left\{\frac{e^{-2\theta S(u)}}{m(\alpha\theta)^{2n/\alpha}} > \frac{s_0}{s}\right\}}$$

$$\leq \left(B_2 + \frac{B_1}{s_0^{\alpha/2}}\right) \frac{e^{-\alpha\theta S(u)}}{m(\alpha\theta)^n} \quad \text{a.s.}$$

This yields, for each $n \in \mathbb{N}$ and $s \in (0, s_0]$,

$$1 - \Phi_n(s) = \mathbb{E}\left(1 - \prod_{|u|=n} \varphi\left(s \frac{e^{-2\theta S(u)}}{m(\alpha\theta)^{2n/\alpha}}\right)\right) \le (1 - \varphi(s))\mathbb{E}\sum_{|u|=n} \frac{1 - \varphi\left(s \frac{e^{-2\theta S(u)}}{m(\alpha\theta)^{2n/\alpha}}\right)}{1 - \varphi(s)}$$
$$\le \left(B_2 + \frac{B_1}{s_0^{\alpha/2}}\right)(1 - \varphi(s))\mathbb{E}\sum_{|u|=n} \frac{e^{-\alpha\theta S(u)}}{m(\alpha\theta)^n} = \left(B_2 + \frac{B_1}{s_0^{\alpha/2}}\right)(1 - \varphi(s)).$$

The so obtained majorant is appropriate because

$$\int_{0}^{s_0} s^{-p/2-1} (1 - \varphi(s)) ds < \infty$$

as a consequence of $\mathbb{E}[\eta_1]^p < \infty$ (recall that $p < \alpha$). When $s > s_0$ the crude bound $1 - \Phi_n(s) \le 1$ suffices, for $\int_{s_0}^{\infty} s^{-p/2-1} ds < \infty$. The proof of Lemma 4.3 is complete.

For the proof of Theorem 3.9 we shall need a version of Lemma 3.3 in [3].

Lemma 4.4. Assume that $m(p\theta) \ge m(\theta)^p$ and $\mathbb{E}[Z_1(\theta)]^p < \infty$ for some p > 1 and $\theta \in \mathbb{R} \setminus \{0\}$. Then

$$\mathbb{E}[Z_n(\theta)]^p = O\left(n^c \left(\frac{m(p\theta)}{m(\theta)^p}\right)^n\right), \quad n \to \infty$$

for a finite nonnegative constant c (explicitly known).

We are now ready to prove our main results.

Proof of Theorem 3.1. NECESSITY OF (4) AND (5) OR (6). Set $R := \sum_{n\geq 0} |Z_{n+1}(\lambda) - Z_n(\lambda)|^2$ and assume that $(Z_n(\lambda))_{n\in\mathbb{N}_0}$ converges in L^p , $p\in(1,2)$. Then $\mathbb{E}R^{p/2}<\infty$ by Lemma 4.1. In particular, this entails $\mathbb{E}|Z_1(\lambda)|^p<\infty$ thereby showing the necessity of (4).

Let $(a_n)_{n\geq 0}$ be a sequence of positive numbers which satisfies $a:=\sum_{n\geq 0}a_n<\infty$. Since the function $x\mapsto x^{p/2}$ is concave on $[0,\infty)$ we infer

$$R^{p/2} = a^{p/2} \left(\sum_{n \ge 0} (a_n/a) (1/a_n) |Z_{n+1}(\lambda) - Z_n(\lambda)|^2 \right)^{p/2}$$

$$\ge a^{p/2} \sum_{n \ge 0} (a_n/a) (1/a_n)^{p/2} |Z_{n+1}(\lambda) - Z_n(\lambda)|^p$$

$$= a^{p/2-1} \sum_{n \ge 0} a_n^{1-p/2} |Z_{n+1}(\lambda) - Z_n(\lambda)|^p.$$

Given \mathcal{F}_n , the random variable $Z_{n+1}(\lambda) - Z_n(\lambda)$, being a weighted sum of i.i.d. complex-valued zero-mean random variables, is the terminal value of a martingale. Hence, Lemma 4.1 applies and gives

$$C_{p}\mathbb{E}\Big(\sum_{|u|=n}|Y_{u}(\lambda)|^{2}|Z_{1}^{(u)}(\lambda)-1|^{2}\Big)^{p/2} \geq \mathbb{E}|Z_{n+1}(\lambda)-Z_{n}(\lambda)|^{p}$$

$$\geq c_{p}\mathbb{E}\Big(\sum_{|u|=n}|Y_{u}(\lambda)|^{2}|Z_{1}^{(u)}(\lambda)-1|^{2}\Big)^{p/2} =: c_{p}A_{n}(26)$$

(the left-hand inequality is not needed here and will be used later).

Assume that condition (2) holds. Then $\alpha = 2$ by our convention. Using once again concavity of $x \mapsto x^{p/2}$ on $[0, \infty)$ we obtain

$$A_n \ge \mathbb{E}|Z_1(\lambda) - 1|^p \mathbb{E}\Big(\sum_{|u|=n} |Y_u(\lambda)|^2\Big)^{p/2} = \Big(\frac{m(0)}{|m(\lambda)|^2}\Big)^{np/2} \mathbb{E}|Z_1(\lambda) - 1|^p \mathbb{E}[Z_n(0)]^{p/2}$$

and thereupon

$$\infty > \mathbb{E}R^{p/2} \ge a^{p/2-1}c_p \mathbb{E}|Z_1(\lambda) - 1|^p \sum_{n \ge 0} a_n^{1-p/2} \left(\frac{m(0)}{|m(\lambda)|^{\alpha}}\right)^{np/\alpha} \mathbb{E}[Z_n(0)]^{p/\alpha}.$$
 (27)

Assume now that condition (3) holds. Then $\alpha \in (p,2)$ (recall (4)). According to (17),

$$A_n \ge c \left(\frac{m(0)}{|m(\lambda)|^{\alpha}}\right)^{np/\alpha} \mathbb{E}[Z_n(0)]^{p/\alpha}$$

and thereupon

$$\infty > \mathbb{E}R^{p/2} \ge a^{p/2-1}cc_p \sum_{n>0} a_n^{1-p/2} \left(\frac{m(0)}{|m(\lambda)|^{\alpha}}\right)^{np/\alpha} \mathbb{E}[Z_n(0)]^{p/\alpha}.$$

Observe that the series on the right-hand side is the same as in (27). Further, we have to consider two cases.

<u>Case</u> $\mathbb{E}Z_1(0)\log^+ Z_1(0) < \infty$. According to the Kesten-Stigum theorem, already mentioned in Section 3, $Z_n(0)$ converges a.s. and in mean as $n \to \infty$ to a random variable $Z_\infty(0)$. Therefore, $\lim_{n\to\infty} \mathbb{E}[Z_n(0)]^{p/\alpha} = \mathbb{E}[Z_\infty(0)]^{p/\alpha} \in (0,\infty)$, and the necessity of (5) follows upon setting

$$a_n = \left(\frac{m(0)}{|m(\lambda)|^{\alpha}}\right)^n, \quad n \in \mathbb{N}_0.$$
 (28)

Case $\mathbb{E}Z_1(0)\log^+ Z_1(0) = \infty$. By Lemma 4.2, we have

$$\mathbb{E}[Z_n(0)]^{p/\alpha} \sim \frac{\mathbb{E}[\tilde{Z}_{\infty}(0)]^{p/\alpha}}{\ell(m(0)^n)^{p/\alpha}}, \quad n \to \infty$$

for some positive slowly varying ℓ with $\lim_{t\to\infty}\ell(t)=\infty$. Assume that $\sum_{n\geq 0}\ell(m(0)^n)^{-p/\alpha}$ is a divergent series. Then choosing a_n as in (28) we see that condition (5) is necessary. If the series $\sum_{n\geq 0}\ell(m(0)^n)^{-p/\alpha}$ converges then choosing any sequence $(a_n)_{n\in\mathbb{N}_0}$ with the property $\lim_{n\to\infty}e^{bn}a_n=\infty$ for any b>0, we conclude that condition (6) is necessary.

SUFFICIENCY OF (4) AND (5) OR (6). By Lemma 4.1, it suffices to show that $\mathbb{E}R^{p/2} < \infty$. Using subadditivity of $x \mapsto x^{p/2}$ on $[0, \infty)$ we obtain

$$\mathbb{E}R^{p/2} \le \sum_{n>0} \mathbb{E}|Z_{n+1}(\lambda) - Z_n(\lambda)|^p.$$

Further, in view of (26)

$$\mathbb{E}|Z_{n+1}(\lambda) - Z_n(\lambda)|^p \le C_p \mathbb{E}\Big(\sum_{|u|=n} |Y_u(\lambda)|^2 |Z_1^{(u)}(\lambda) - 1|^2\Big)^{p/2}.$$

Assume first that condition (2) holds, so that $\alpha = 2$. Using conditional Jensen's inequality yields

$$\mathbb{E}\Big(\Big(\sum_{|u|=n}|Y_{u}(\lambda)|^{2}|Z_{1}^{(u)}(\lambda)-1|^{2}\Big)^{p/2}\Big|\mathcal{F}_{n}\Big) \leq \mathbb{E}\Big(\sum_{|u|=n}|Y_{u}(\lambda)|^{2}|Z_{1}^{(u)}(\lambda)-1|^{2}\Big|\mathcal{F}_{n}\Big)^{p/2} \\
= \left[\mathbb{E}|Z_{1}(\lambda)-1|^{2}\right]^{p/2}\Big(\frac{m(0)}{|m(\lambda)|^{2}}\Big)^{np/2}Z_{n}(0)^{p/2} \text{ a.s.},$$

whence

$$\mathbb{E}R^{p/2} \le C_p \big[\mathbb{E}|Z_1(\lambda) - 1|^2 \big]^{p/2} \sum_{n \ge 0} \left(\frac{m(0)}{|m(\lambda)|^{\alpha}} \right)^{np/\alpha} \mathbb{E}[Z_n(0)]^{p/\alpha}.$$

Assume now that condition (3) holds which together with (4) ensures that $\alpha \in (p, 2)$. In view of (17)

$$A_n \le C \left(\frac{m(0)}{|m(\lambda)|^{\alpha}}\right)^{np/\alpha} \mathbb{E}[Z_n(0)]^{p/\alpha}$$

which entails

$$\mathbb{E}R^{p/2} \le C_p C \sum_{n \ge 0} \left(\frac{m(0)}{|m(\lambda)|^{\alpha}} \right)^{np/\alpha} \mathbb{E}[Z_n(0)]^{p/\alpha}.$$

Arguing as in the proof of necessity we conclude the following. If either $\mathbb{E}Z_1(0)\log^+ Z_1(0) = \infty$ and $A = \infty$, or $\mathbb{E}Z_1(0)\log^+ Z_1(0) < \infty$, then condition (5) is sufficient, whereas if $\mathbb{E}Z_1(0)\log^+ Z_1(0) = \infty$ and $A < \infty$, then condition (6) is sufficient. The proof of Theorem 3.1 is complete.

Proof of Theorem 3.4. The proof is a simpler counterpart of the proof of Theorem 3.1 which uses inequality (18) rather than (17). We omit details.

Proof of Proposition 3.7. We have for r satisfying (9)

$$\mathbb{E}R^{p/2} \leq C_p \mathbb{E}\Big(\sum_{|u|=n} |Y_u(\lambda)|^2 |Z_1^{(u)}(\lambda) - 1|^2\Big)^{p/2}$$

$$\leq C_p \mathbb{E}\Big(\sum_{|u|=n} |Y_u(\lambda)|^r |Z_1^{(u)}(\lambda) - 1|^r\Big)^{p/r} \leq C_p [\mathbb{E}|Z_1(\lambda) - 1|^r]^{p/r} \sum_{n\geq 0} \Big(\frac{m(r\theta)}{|m(\lambda)|^r}\Big)^{np/r} < \infty$$

which proves the result in view of Lemma 4.1. The first inequality was obtained in the proof of sufficiency in Theorem 3.1. The second and third are consequences of subadditivity of $x \mapsto x^{r/2}$ and Jensen's inequality, respectively.

Proof of Theorem 3.9. NECESSITY OF (10), (11) AND (12). Assume that $(Z_n(\lambda))_{n\in\mathbb{N}_0}$ converges in L^p and recall the notation $R=\sum_{n\geq 0}|Z_{n+1}(\lambda)-Z_n(\lambda)|^2$. Then $\mathbb{E}R^{p/2}<\infty$ by Lemma 4.1. Recalling that $p\geq 2$ and using superadditivity of $x\mapsto x^{p/2}$ on $[0,\infty)$ we further infer

$$\sum_{n>0} \mathbb{E}|Z_{n+1}(\lambda) - Z_n(\lambda)|^p \le \mathbb{E}R^{p/2} < \infty.$$
(29)

On the one hand, we obtain for A_n defined in (26),

$$A_n \ge \mathbb{E} \sum_{|u|=n} |Y_u(\lambda)|^p |Z_1^{(u)}(\lambda) - 1|^p = \mathbb{E}|Z_1(\lambda) - 1|^p \left(\frac{m(p\theta)}{|m(\lambda)|^p}\right)^n$$

having utilized the aforementioned superadditivity. In view of (29) this proves the necessity of (10) for $p \ge 2$ and $m(p\theta) < |m(\lambda)|^p$. On the other hand, we conclude that

$$A_{n} \geq \mathbb{E}\Big[\mathbb{E}\Big(\sum_{|u|=n} |Y_{u}(\lambda)|^{2} |Z_{1}^{(u)}(\lambda) - 1|^{2} \Big| \mathcal{F}_{n}\Big)^{p/2}\Big] = \Big(\mathbb{E}|Z_{1}(\lambda) - 1|^{2}\Big)^{p/2} \mathbb{E}\Big(\sum_{|u|=n} |Y_{u}(\lambda)|^{2}\Big)^{p/2}$$

$$\geq \Big(\mathbb{E}|Z_{1}(\lambda) - 1|^{2} \Big(\frac{m(2\theta)}{|m(\lambda)|^{2}}\Big)^{n}\Big)^{p/2},$$

where the first and second inequalities are consequences of conditional and usual Jensen's inequality, respectively. This proves the necessity of $m(2\theta) < |m(\lambda)|^2$. Using the last chain of inequalities with n = 1 we observe that

$$\mathbb{E}\Big(\sum_{|u|=1}|Y_u(\lambda)|^2\Big)^{p/2} = \frac{1}{|m(\lambda)|^p} \mathbb{E}\Big(\sum_{|u|=1}e^{-2\theta S(u)}\Big)^{p/2} < \infty$$

which in combination with the already checked finiteness of $m(2\theta)$ proves the necessity of (12). Finally, if $\theta = 0$, then conditions m(0) > 1 and $m(0) < |m(\lambda)|^2$ imply that $|m(\lambda)| > 1$. Therefore, $m(0) < |m(\lambda)|^p$ is a consequence of $m(0) < |m(\lambda)|^2$.

SUFFICIENCY OF (10), (11) AND (12). By Lemma 4.1, it suffices to check that $\mathbb{E}R^{p/2} < \infty$. Using the triangle inequality in $L_{p/2}$ yields

$$\mathbb{E}R^{p/2} \le \left(\sum_{n\ge 0} \left[\mathbb{E}|Z_{n+1}(\lambda) - Z_n(\lambda)|^p \right]^{2/p} \right)^{p/2}.$$

To show that the right-hand side is finite, we write

$$C_{p}^{-1}\mathbb{E}|Z_{n+1}(\lambda) - Z_{n}(\lambda)|^{p} \leq \mathbb{E}\left(\sum_{|u|=n} |Y_{u}(\lambda)|^{2} |Z_{1}^{(u)}(\lambda) - 1|^{2}\right)^{p/2}$$

$$= \mathbb{E}\left(\sum_{|v|=n} |Y_{v}(\lambda)|^{2} \sum_{|u|=n} \frac{|Y_{u}(\lambda)|^{2}}{\sum_{|v|=n} |Y_{v}(\lambda)|^{2}} |Z_{1}^{(u)}(\lambda) - 1|^{2}\right)^{p/2}$$

$$\leq \mathbb{E}|Z_{1}(\lambda) - 1|^{p}\mathbb{E}\left(\sum_{|u|=n} |Y_{u}(\lambda)|^{2}\right)^{p/2}$$

$$= \mathbb{E}|Z_{1}(\lambda) - 1|^{p}\left(\frac{m(2\theta)}{|m(\lambda)|^{2}}\right)^{np/2}\mathbb{E}[Z_{n}(2\theta)]^{p/2}. \tag{30}$$

We have used (26) for the first inequality and convexity of $x \mapsto x^{p/2}$ on $[0, \infty)$ for the second. Now we have to analyze the asymptotic behavior of $\mathbb{E}[Z_n(2\theta)]^{p/2}$ as $n \to \infty$. While doing so, distinguishing two cases seems inevitable.

Case p=2. The right-hand side of (30) is equal to $\mathbb{E}|Z_1(\lambda)-1|^2\left(\frac{m(2\theta)}{|m(\lambda)|^2}\right)^n$. Therefore, conditions $\mathbb{E}|Z_1(\lambda)|^2<\infty$ and $m(2\theta)<|m(\lambda)|^2$ ensure $\mathbb{E}R<\infty$. Case p>2.

SUBCASE $m(p\theta) < m(2\theta)^{p/2}$, $\theta \in \mathbb{R}$. In view of the present assumption on m and (12) we have $\sup_{n\geq 0} \mathbb{E}[Z_n(2\theta)]^{p/2} < \infty$ by Proposition 2.1. Hence, the right-hand side of (30) is $O\left(\left(\frac{m(2\theta)}{|m(\lambda)|^2}\right)^{np/2}\right)$. This in combination with $m(2\theta) < |m(\lambda)|^2$ proves $\mathbb{E}R^{p/2} < \infty$. If $\theta = 0$, this completes the proof of sufficiency because the complementary case considered below which reads $m(0) \geq m(0)^{p/2}$ is impossible in view of $m(0) \in (1, \infty)$.

SUBCASE $m(p\theta) \ge m(2\theta)^{p/2}$, $\theta \in \mathbb{R}\setminus\{0\}$. In view of the present assumption on m and (12) we can apply Lemma 4.4 with 2θ and p/2 replacing θ and p to obtain

$$\mathbb{E}[Z_n(2\theta)]^{p/2} = O\left(n^c \left(\frac{m(p\theta)}{m(2\theta)^{p/2}}\right)^n\right), \quad n \to \infty$$

for appropriate finite constant c. Hence, the right-hand side of (30) is $O\left(n^c\left(\frac{m(p\theta)}{|m(\lambda)|^p}\right)^n\right)$ which proves $\mathbb{E}R^{p/2} < \infty$ because $m(p\theta) < |m(\lambda)|^p$.

The proof of Theorem 3.9 is complete.

Acknowledgement. The authors thank the referee for thoughtful comments which helped improve the presentation. A part of this work was done while A. Iksanov was visiting Vannes in October 2017. He gratefully acknowledges hospitality and the financial support by Université de Bretagne-Sud. The work has been partially supported by the National Natural Science Foundation of China (Grants nos. 11601019, 11731012, 11571052), by the Scientific Research Project of Beijing Municipal Education (Grant no. SQKM201610011006), by the Natural Science Foundation of Hunan Province of China (Grant No. 2017JJ2271), and by the Centre Henri Lebesgue (CHL, ANR-11-LABX-0020-01, France).

References

 E. Aidekon and Z. Shi, The Seneta-Heyde scaling for the branching random walk. Ann. Probab. 42 (2014), 959–993.

- [2] G. Alsmeyer and A. Iksanov, A log-type moment result for perpetuities and its application to martingales in supercritical branching random walks. Electron. J. Probab. 14 (2009), 289–313.
- [3] G. Alsmeyer, A. Iksanov, S. Polotskiy and U. Rösler, Exponential rate of L_p-convergence of intrinsic martingales in supercritical branching random walks. Theory Stoch. Proc. **15(31)** (2009), 1–18.
- [4] G. Alsmeyer and D. Kuhlbusch, Double martingale structure and existence of φ-moments for weighted branching processes. Münster J. Math. 3 (2010), 163–212.
- [5] S. Asmussen and H. Hering, Branching processes. Birkhäuser, 1983.
- [6] J. D. Biggins, Martingale convergence in the branching random walk. J. Appl. Probab. 14 (1977), 25–37.
- [7] J. D. Biggins, Uniform convergence of martingales in the branching random walk. Ann. Probab. 20 (1992), 137–151.
- [8] J. D. Biggins, Lindley-type equations in the branching random walk. Stoch. Proc. Appl. 75 (1998), 105–133.
- [9] J. D. Biggins and A. E. Kyprianou. Seneta-Heyde norming in the branching random walk. Ann. Probab. 25, 337–360.
- [10] N. H. Bingham and R. Doney, Asymptotic properties of supercritical branching processes I: the Galton-Watson process. Adv. Appl. Probab. 6 (1974), 711–731.
- [11] Y. Chow and H. Teicher, Probability theory: independence, interchangeability, martingales. Springer, 1997.
- [12] E. Damek and S. Mentemeier, Absolute continuity of complex martingales and of solutions to complex smoothing equations. Electron. Commun. Probab. 23 (2018), paper no. 60, 12 pp.
- [13] R. Grübel and Z. Kabluchko, A functional central limit theorem for branching random walks, almost sure weak convergence and applications to random trees. Ann. Appl. Probab. 26 (2016), 3659–3698.
- [14] L. Hartung and A. Klimovsky, *The phase diagram of the complex branching Brownian motion energy model*. Electron. J. Probab. **23** (2018), paper no. 127, 27 pp.
- [15] Y. Hu and Z. Shi, Minimal position and critical martingale convergence in branching random walks, and directed polymers on disordered trees. Ann. Probab. 37 (2009), 742–789.
- [16] A. Iksanov, Elementary fixed points of the BRW smoothing transforms with infinite number of summands. Stoch. Proc. Appl. 114 (2004), 27–50.
- [17] A. Iksanov, K. Kolesko and M. Meiners, Fluctuations of Biggins' martingales at complex parameters, submitted, 2018. Preprint available at https://arxiv.org/abs/1806.09943
- [18] K. Kolesko and M. Meiners, Convergence of complex martingales in the branching random walk: the boundary. Electron. Commun. Probab. 22 (2017), paper no.18, 14 pp.
- [19] X. Liang, Propriétés asymptotiques des martingales de Mandelbrot et des marches aleatoires branchantes. PhD thesis, Université de Bretagne- Sud, 2010.
- [20] Q. Liu, On generalized multiplicative cascades. Stoch. Proc. Appl. 86 (2000), 263–286.
- [21] R. Lyons, A simple path to Biggins' martingale convergence for branching random walk. Classical and modern branching processes, IMA Volumes in Mathematics and its Applications. 84, 217–221, Springer, 1997.
- [22] P. Maillard and M. Pain, 1-stable fluctuations in branching Brownian motion at critical temperature I: the derivative martingale. Ann. Probab., to appear, 2019+.